
 

              Answer Key 
I. Change the following from singular to 

plural:- 
 
1. Cities 
2. Berries 
3. Knives 
4. Hooves 
5. Trousers 
6. Geese 
7. Teeth 
8. Deer 
9. Cacti 
10. Leaves 

 
II. Each sentence has an underlined word. 

Write “Singular” If it is a singular noun 
and “Plural” If it is a plural noun. 
 
1. Singular 
2. Plural 
3. Singular 
4. Plural 



5. Singular 
6. Plural 
7. Plural 
8. Plural 
9. Plural 
10. Plural 

 
III. Write the Plural of the words in the 

brackets to complete each sentence:- 
 

1. Geese 
2. Children 
3. People 
4. Leaves 
5. Babies 
6. Teeth 
7. Women 
8. Ponies 
9. Berries 
10. Cities 


